CITY OF CLEARWATER ITB # 25-20, NATURAL GAS METERS AND REGULATORS DUE DATE: June 3, 2020; 10:00 AM BID TABULATION

BID TABULATION		Devtech		Equipment Controls		JEM-TECH Inc.				
Item No.	Description	Est. Quantity (UOM)	Unit Price (UOM)	Total Price	Unit Price (UOM)	Total Price		Unit Price (UOM)		Total Price
1	200 CLASS CFH (NTC) SCREWED CASE ALUMINUM GAS METERS WITH CONNECTIONS (General)	2,400	\$80.70	\$ 193,680.00	\$89.84	\$	215,616.00		\$	-
2	200 CLASS CFH (NTC) SCREWED CASE ALUMINUM GAS METERS WITH CONNECTIONS (ITRON for use with 005	400		\$-	\$89.84	\$	35,936.00		\$	_
3	400 CLASS CFH (NTC) ALUMINUM GAS METERS WITH CONNECTIONS	500	\$197.00	\$ 98,500.00	\$229.13	\$	114,565.00		\$	_
	600 CLASS CFH (NTC) ALUMINUM GAS METERS WITH				ψ223.15		114,303.00		Ť	
4	CONNECTIONS 600 CLASS CFH (NTC) ALUMINUM GAS METERS WITH	500	\$439.00	<u>\$219,500.00</u>		\$	-		\$	-
5	CONNECTIONS (Can be used for right to left) 800 CLASS CFH (NTC) ALUMINUM GAS METERS WITH	25	\$439.00	<u>\$ 10,975.00</u>		\$	-		\$	-
6	CONNECTIONS 800 CLASS CFH (NTC) ALUMINUM GAS METERS WITH	100	\$761.00	\$ 76,100.00		\$	-		\$	-
7	CONNECTIONS (With 2lb dial)	100	\$761.00	\$ 76,100.00		\$	-		\$	-
8	1000 CLASS CFH (NTC) ALUMINUM GAS METERS WITH CONNECTIONS (With 2 lb Dial)	200	\$1,027.00	\$ 205,400.00		\$	-		\$	-
9	1000 CLASS CFH (NTC) ALUMINUM GAS METERS WITH CONNECTIONS (With 2 lb Dial) Right to left	20	\$1,027.00	\$ 20,540.00		\$	-		\$	_
	CONNECTIONS (With 7 inch Dial)			· · · · · · · · · · · · · · · · · · ·					Ť	
10	1000 CLASS CFH (NTC) ALUMINUM GAS METERS WITH	200	\$1,027.00	\$ 205,400.00		\$	-		\$	-
11	CONNECTIONS (With 7 inch Dial) Right to Left ROMET OR ROOTS 3M ROTARY METER OR	20	\$1,027.00	<mark>\$ 20,540.00</mark>		\$	-		\$	-
12	EQUIVALENT ROMET OR ROOTS 5M ROTARY METER OR	30	\$1,396.00	\$ 41,880.00	\$1,351.78	\$	40,553.40	\$770.00	\$	23,100.00
13	EQUIVALENT	30	\$1,793.00	\$ 53,790.00	\$1,924.72	\$	57,741.60	\$990.00	\$	29,700.00
14	ROMET OR ROOTS 7M ROTARY METER OR EQUIVALENT	10	\$2,198.00	\$ 21,980.00	\$2,554.13	\$	25,541.30	\$1,250.00	\$	12,500.00
15	ROMET OR ROOTS 11M ROTARY METER OR EQUIVALENT	10	\$2,590.00	\$ 25,900.00	\$3,043.54	\$	30,435.40	\$1,410.00	\$	14,100.00
				,						
16	HSR 3/4" ANGLE BODY	1,500	\$34.71	\$ 52,065.00	\$36.79	\$	55,185.00	\$27.50	\$	41,250.00
17	HSR 3/4" ANGLE BODY	500	\$34.71	\$ 17,355.00	\$36.79	\$	18,395.00	\$27.50	\$	13,750.00
18	HSR 3/4" GLOBE BODY	200	\$31.18	\$ 6,236.00	\$34.45	\$	6,890.00	\$27.50	\$	5,500.00
19	HSR 3/4" GLOBE BODY	200	\$31.18	\$ 6,236.00	\$34.45	\$	6,890.00	\$27.50	\$	5,500.00
20	HSR 1" GLOBE BODY	300	\$31.18	\$ 9,354.00	\$41.18	\$	12,354.00	\$27.50	\$	8,250.00
21	HSR 1" GLOBE BODY	300	\$31.18	\$ 9,354.00	\$41.18	\$	12,354.00	\$27.50	\$	8,250.00
	DIRECT OPERATED PRESSURE REDUCING REGULATOR	15	\$217.42	\$ 3,261.30	\$148.90	\$	2,233.50	·	\$	
	CONSTANT PRESSURE PILOT LOADED REGULATOR LT					Ť			Ť	
23	GREEN MAIN SPRING, BLUE PILOT SRING 2" FLANGED SPRING LOADED, SELF REGULATED GAS	25	\$759.00	\$ 18,975.00	\$572.63	\$	14,315.75		\$	-
24	REGULATOR WITH INTERNAL RELIEF VALVE 2" FEMALE PIPE THREAD SPRING LOADED, SELF	30	\$577.00	\$ 17,310.00	\$301.78	\$	9,053.40		\$	-
25	OPERATED GAS REGULATOR WITH INTERNAL RELIEF	30	\$353.00	\$ 10,590.00	\$234.24	\$	7,027.20		\$	-
26	1 1/4" SPRING LOADED, SELF OPERATED GAS REGULATOR WITH INTERNAL RELIEF	10	\$353.00	\$ 3,530.00	\$207.86	\$	2,078.60		\$	
27	1 1/4" SPRING LOADED, SELF OPERATED GAS REGULATOR WITH INTERNAL RELIEF	10	\$353.00	\$ 3,530.00	\$207.86	\$	2,078.60		\$	-
	SPRING LOADED THROTTLING RELIEF BACK PRESSURE REGULATOR (OVERPRESSURE RELIEF	25	\$140.50	\$ 3,512.50	, ,	\$		\$137.00	\$	3,425.00
	SPRING LOADED THROTTLING RELIEF BACK					Ť	-			í
29	PRESSURE REGULATOR (OVERPRESSURE RELIEF	25	\$140.50	\$ 3,512.50		\$	-	\$137.00	\$	3,425.00
30	PILOT OPERATED PRESSURE REDUCING REGULATOR PRESSURE REDUCING REGULATOR FOR REGULATOR	5	\$530.00	\$ 2,650.00		\$	-		\$	-
31	STATIONS AND DISTRIC GATE STATIONS	5	\$1,822.00	\$ 9,110.00		\$	-		\$	-
32	STRAINERS	50	\$115.00	\$ 5,750.00		\$	-		\$	-
33	FILTER 2" (DRY PARTICLE)	10	\$731.00	\$ 7,310.00	\$2,683.53	\$	26,835.30		\$	-
34	FILTER 3" (DRY PARTICLE) FILTER 4" (DRY PARTICLE)	2	\$820.00 \$1,340.00	\$ 1,640.00 \$ 2,680.00	\$2,871.77	\$ \$	5,743.54		\$ \$	-
35		2	φ1,340.00	φ 2,080.00	\$3,708.24	•	7,416.48		\$	-
	Total Bid Items 1 – 35:		Total Bid Items awarded:	\$ 1,155,875.00	Total Bid Items awarded:	\$	36,787.05	Total Bid Items awarded:	\$	168,750.00

CITY OF CLEARWATER ITB # 25-20, NATURAL GAS METERS AND REGULATORS DUE DATE: June 3, 2020; 10:00 AM BID REVIEW

	Control Southern	Devtech Sales, Inc.	Equipment Controls Company	JEM -TECH		
Original / Copy / Electronic copy	x	x	х	x		
Bid container properly labeled	Х	x	х	х		
Bid Pricing Form Exceptions, Additional Materials, Addenda Form	not signed	x, NO EXHIBIT A x, additional materials: product	X X, EXCEPTIONS TAKEN SEE	х		
	duct literature and exceptions. did			XCEPTIONS TAKEN SEE SEE NO	DTES	
Vendor Information Form	incomplete	x	х	x		
Offer Certification Form	only company name, incomplete	x	х	х		
W-9 Form	x	x	X	x		
Notes	no training details listed. Did not		supplier with the powder coat	EXCEPTIONS: 4.4 REGULATORS ARE OPWDER		
Is there language regarding "Confidential/Proprietary" Info?		NO	NO			
Due Diligence						
Sunbiz						
Review of DMS sites / Federal Debarment Site						
Review of license requirement						
Review of certification requirement						
Review of other Clearwater contracts						

 \checkmark

CITY OF CLEARWATER

ITB # 25-20, NATURAL GAS METERS AND REGULATORS

DUE DATE: June 3, 2020; 10:00 AM

BID TABULATION SUMMARY

Items with a star (mindicates intent to award.

ITEM	DESCRIPTION			
	200 CLASS CFH (NTC) SCREWED CASE ALUMINUM			
1	GAS METERS WITH CONNECTIONS (General)			
•	200 CLASS CFH (NTC) SCREWED CASE ALUMINUM			
2	GAS METERS WITH CONNECTIONS (ITRON for use			
	400 CLASS CFH (NTC) ALUMINUM GAS METERS			
3	WITH CONNECTIONS			
	600 CLASS CFH (NTC) ALUMINUM GAS METERS			
4	WITH CONNECTIONS			
	600 CLASS CFH (NTC) ALUMINUM GAS METERS			
5	WITH CONNECTIONS (Can be used for right to left)			
	800 CLASS CFH (NTC) ALUMINUM GAS METERS			
6	WITH CONNECTIONS 800 CLASS CFH (NTC) ALUMINUM GAS METERS			
7	WITH CONNECTIONS (With 2lb dial)			
	1000 CLASS CFH (NTC) ALUMINUM GAS METERS			
8	WITH CONNECTIONS (With 2 lb Dial)			
	1000 CLASS CFH (NTC) ALUMINUM GAS METERS			
9	WITH CONNECTIONS (With 2 lb Dial) Right to left	<u> </u>		
	WITH CONNECTIONS (With 7 inch Dial)			
10				
	1000 CLASS CFH (NTC) ALUMINUM GAS METERS			
11	WITH CONNECTIONS (With 7 inch Dial) Right to Left			
10	ROMET OR ROOTS 3M ROTARY METER OR			
12	EQUIVALENT ROMET OR ROOTS 5M ROTARY METER OR			
13	EQUIVALENT			
13	ROMET OR ROOTS 7M ROTARY METER OR			
14	EQUIVALENT			
	ROMET OR ROOTS 11M ROTARY METER OR			
15	EQUIVALENT			
16	HSR 3/4" ANGLE BODY			
17	HSR 3/4" ANGLE BODY			
18	HSR 3/4" GLOBE BODY			
10				
19	HSR 3/4" GLOBE BODY			
20	HSR 1" GLOBE BODY			
21	HSR 1" GLOBE BODY			
	DIRECT OPERATED PRESSURE REDUCING			
22	REGULATOR CONSTANT PRESSURE PILOT LOADED			
23	REGULATOR LT GREEN MAIN SPRING, BLUE PILOT			
23	2" FLANGED SPRING LOADED, SELF REGULATED			
24	GAS REGULATOR WITH INTERNAL RELIEF VALVE			
	OPERATED GAS REGULATOR WITH INTERNAL			
25	RELIEF VALVE			
20	1 1/4" SPRING LOADED, SELF OPERATED GAS			
26	REGULATOR WITH INTERNAL RELIEF			
	1 1/4" SPRING LOADED, SELF OPERATED GAS			
27	REGULATOR WITH INTERNAL RELIEF			

	ITB # 25-20, NATURAL GAS METERS AND REGULATORS					
	SPRING LOADED THROTTLING RELIEF BACK					
	PRESSURE REGULATOR (OVERPRESSURE RELIEF					
	SPRING LOADED THROTTLING RELIEF BACK					
	PRESSURE REGULATOR (OVERPRESSURE RELIEF					
	PILOT OPERATED PRESSURE REDUCING					
	REGULATOR					
	PRESSURE REDUCING REGULATOR FOR					
31	REGULATOR STATIONS AND DISTRIC GATE					
32	STRAINERS					
22						
33	FILTER 2" (DRY PARTICLE)					
34	FILTER 3" (DRY PARTICLE)					
- 34	FILTER 3 (DRT FARTICLE)					
35	FILTER 4" (DRY PARTICLE)					
	Total Bid Items 1 – 35:	\$ -			\$ -	\$ -
		Ť	· ·	т Т	Ť	Ť

CITY OF CLEARWATER

ITB # 25-20, NATURAL GAS METERS AND REGULATORS

DUE DATE: June 3, 2020; 10:00 AM

BID TABULATION SUMMARY

200 CLASS CFH (NTC) SCREWED CASE ALUMINUM 1 GAS METERS WITH CONNECTIONS (ITRON for use 200 CLASS CFH (NTC) SCREWED CASE ALUMINUM 2 GAS METERS WITH CONNECTIONS (ITRON for use 4 400 CLASS CFH (NTC) ALUMINUM GAS METERS 5 WITH CONNECTIONS 600 CLASS CFH (NTC) ALUMINUM GAS METERS 4 WITH CONNECTIONS 600 CLASS CFH (NTC) ALUMINUM GAS METERS 5 WITH CONNECTIONS 600 CLASS CFH (NTC) ALUMINUM GAS METERS 7 WITH CONNECTIONS 800 CLASS CFH (NTC) ALUMINUM GAS METERS 900 CLASS CFH (NTC) ALUMINUM GAS METERS 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 91000 CLASS CFH (NTC) ALUMINUM	ITEM	DESCRIPTION	
200 CLASS CFH (NTC) SCREWED CASE ALUMINUM 2 GAS METERS WITH CONNECTIONS (ITRON for use 400 CLASS CFH (NTC) ALUMINUM GAS METERS 3 WITH CONNECTIONS (CAN BE USE OF IGHT IS ALUMINUM GAS METERS 4 WITH CONNECTIONS (CAN be used for right to left) 8 00 CLASS CFH (NTC) ALUMINUM GAS METERS 5 WITH CONNECTIONS (Can be used for right to left) 8 00 CLASS CFH (NTC) ALUMINUM GAS METERS 6 00 CLASS CFH (NTC) ALUMINUM GAS METERS 8 00 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb Dial) 1 000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 7 linch Dial) 1 000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 7 linch Dial) 1 000 CLASS CFH (NTC) ALUMINUM GAS METERS 1 1 WITH CONNECTIONS (With 7 linch Dial) 1 000 CLASS CFH (NTC) ALUMINUM GAS METERS 1 1 WITH CONNECTIONS (With 7 linch Dial) 1 000 CLASS CFH (NTC) ALUMINUM GAS METERS 1 1 WITH CONNECTIONS (With 7 linch Dial) 1 000 CLASS CFH (NTC) ALUMINUM GAS METERS 1 1 WITH CONNECTIONS (With 7 linch Dial) 1 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 1 1 WITH CONNECTIONS (WITH 7 linch Dial) 1 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 1 1 WITH CONNECTION		200 CLASS CFH (NTC) SCREWED CASE ALUMINUM	
2 GAS METERS WITH CONNECTIONS (ITRON for use 400 CLASS CFH (NTC) ALUMINUM GAS METERS 3 3 WITH CONNECTIONS 600 CLASS CFH (NTC) ALUMINUM GAS METERS 5 600 CLASS CFH (NTC) ALUMINUM GAS METERS 600 CLASS CFH (NTC) ALUMINUM GAS METERS 7 800 CLASS CFH (NTC) ALUMINUM GAS METERS 8 800 CLASS CFH (NTC) ALUMINUM GAS METERS 7 800 CLASS CFH (NTC) ALUMINUM GAS METERS 8 9 WITH CONNECTIONS (With 2 lb dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 8 9 WITH CONNECTIONS (With 2 lb dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dial) 100 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dial) 100 100 11 WITH CONNECTIONS (With 7 inch Dial) 100 11 WITH CONNECTIONS (With 7 inch Dial) 101 102 103 104 204 114 204 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY	1		
400 CLASS CFH (NTC) ALUMINUM GÅS METERS 3 WITH CONNECTIONS 600 CLASS CFH (NTC) ALUMINUM GAS METERS 4 WITH CONNECTIONS 600 CLASS CFH (NTC) ALUMINUM GAS METERS 5 WITH CONNECTIONS (Can be used for right to left) 800 CLASS CFH (NTC) ALUMINUM GAS METERS 6 WITH CONNECTIONS (Can be used for right to left) 800 CLASS CFH (NTC) ALUMINUM GAS METERS 800 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 21b dia) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb dia) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 7 inch Dia) 100 OLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dia) 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dia) 11 WITH CONNECTIONS (With 7 inch Dia) 12 EQUIVALENT ROMET OR ROOTS 5M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 14 EQUIVALENT 15 EQUIVALENT			
3 WITH CONNECTIONS 600 CLASS CFH (NTC) ALUMINUM GAS METERS 4 WITH CONNECTIONS (Can be used for right to left) 800 CLASS CFH (NTC) ALUMINUM GAS METERS 6 WITH CONNECTIONS (Can be used for right to left) 800 CLASS CFH (NTC) ALUMINUM GAS METERS 6 WITH CONNECTIONS (With 2 lb dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 8 WITH CONNECTIONS (With 2 lb Dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb Dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 7 inch Dial) 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dial) Right to left ROMET OR ROOTS 3M ROTARY METER OR 2 12 EQUIVALENT ROMET OR ROOTS 1M ROTARY METER OR 2 13 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 2 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 2 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" GLOBE BODY 18 HSR 3/4	2		
600 CLASS CFH (NTC) ALUMINUM GAS METERS 4 WITH CONNECTIONS 600 CLASS CFH (NTC) ALUMINUM GAS METERS 5 WITH CONNECTIONS (Can be used for right to left) 800 CLASS CFH (NTC) ALUMINUM GAS METERS 6 WITH CONNECTIONS (With 21b dia) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 800 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 21b dia) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 1b dia) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 1 b dia) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 7 inch Diai) 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Diai) 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (WIT 7 inch Diai) 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (WITA 7 inch Diai) 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (WITA 7 inch Diai) 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 <			
4 WITH CONNECTIONS 600 CLASS CFH (NTC) ALUMINUM GAS METERS 5 WITH CONNECTIONS (Can be used for right to left) 800 CLASS CFH (NTC) ALUMINUM GAS METERS 6 WITH CONNECTIONS 800 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 8 WITH CONNECTIONS (With 2 lb Dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb Dial) Right to left WITH CONNECTIONS (With 7 inch Dial) Right to left WITH CONNECTIONS (With 7 inch Dial) Right to left WITH CONNECTIONS (With 7 inch Dial) Right to left ROMET OR ROOTS SM ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS SM ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS SM ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" GLOBE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 HSR 1" GLOBE BODY	3		
600 CLASS CFH (NTC) ALUMINUM GAS METERS 5 WITH CONNECTIONS (Can be used for right to left) 800 CLASS CFH (NTC) ALUMINUM GAS METERS 6 WITH CONNECTIONS 800 CLASS CFH (NTC) ALUMINUM GAS METERS 7 WITH CONNECTIONS (With 2lb dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 8 WITH CONNECTIONS (With 2lb dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb dial) Right to left WITH CONNECTIONS (With 7 inch Dial) 10 10 10 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 7 inch Dial) 10 10 10 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dial) 10 11 WITH CONNECTIONS (With 7 inch Dial) 11 WITH CONNECTIONS (With 7 inch Dial) 11 WITH CONNECTIONS (WITA 7 METER OR 12 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 11M ROTA			
5 WITH CONNECTIONS (Can be used for right to left) 800 CLASS CFH (NTC) ALUMINUM GAS METERS 800 CLASS CFH (NTC) ALUMINUM GAS METERS 7 WITH CONNECTIONS (With 2 lb dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 8 WITH CONNECTIONS (With 2 lb dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb dial) Right to left WITH CONNECTIONS (With 7 inch Dial) 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 7 inch Dial) 10 10 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dial) 10 11 WITH CONNECTIONS (With 7 inch Dial) 10 ROMET OR ROOTS 5M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 13 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY	4		
800 CLASS CFH (NTC) ALUMINUM GAS METERS 6 WITH CONNECTIONS 7 WITH CONNECTIONS (With 21b dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 8 WITH CONNECTIONS (With 21b dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb Dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb Dial) Right to left WITH CONNECTIONS (With 7 inch Dial) 10 10 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dial) 11 WITH CONNECTIONS (With 7 inch Dial) 12 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" GLOBE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY <t< td=""><td>5</td><td></td><td></td></t<>	5		
6 WITH CONNECTIONS 800 CLASS CFH (NTC) ALUMINUM GAS METERS 7 WITH CONNECTIONS (With 2 lb dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 8 WITH CONNECTIONS (With 2 lb Dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb Dial) Right to left WITH CONNECTIONS (With 7 inch Dial) 100 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 7 inch Dial) Right to left WITH CONNECTIONS (With 7 inch Dial) Right to Left 7 ROMET OR ROOTS 5M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 5M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 14 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" GLOBE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 1" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 HSR 1" GLOBE BODY 23 REGULATOR 24 GAS REGULATOR 25 REGULATOR	J	800 CLASS CFH (NTC) ALUMINUM GAS METERS	
800 CLASS CFH (NTC) ALUMINUM GAS METERS 7 WITH CONNECTIONS (With 2 lb dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 8 WITH CONNECTIONS (With 2 lb dial) Right to left 9 WITH CONNECTIONS (With 2 lb dial) Right to left with CONNECTIONS (With 7 inch Dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 7 inch Dial) 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dial) Right to Left ROMET OR ROOTS 3M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 14 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 1" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HOBE ANDY 22 HSR 1" GLOBE BODY 23 REGULATOR 24 GAS REGULATOR 25 REGULATOR WITH INTERNAL RELEF VALVE 26 MSR REGULATOR WITH INTERNAL RELEF VALVE<	6		
7 WITH CONNECTIONS (With 2lb dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 8 WITH CONNECTIONS (With 2 lb Dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb Dial) Right to left 100 100 100 100 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 11 11 WITH CONNECTIONS (With 7 inch Dial) Right to Left ROMET OR ROOTS 3M ROTARY METER OR EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 12 EQUIVALENT 13 EQUIVALENT 14 EQUIVALENT 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" GLOBE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 1" GLOBE BODY			
1000 CLASS CFH (NTC) ALUMINUM GAS METERS 8 WITH CONNECTIONS (With 2 lb Dial) 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 7 inch Dial) 100 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dial) Right to Left ROMET OR ROOTS SM ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 5M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR 25 REGULATOR KIT PRESSURE PELOT LOADED 26 REGULATOR WITH INTERNAL RELIEF VALVE 21 HSR 1" GLOBE DOLY 22 H	7		
1000 CLASS CFH (NTC) ALUMINUM GAS METERS 9 WITH CONNECTIONS (With 2 lb Dial) Right to left WITH CONNECTIONS (With 7 inch Dial) 10 11 WITH CONNECTIONS (With 7 inch Dial) Right to Left ROMET OR ROOTS 3M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 5M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 HSR 1" GLOBE BODY 23 REGULATOR 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 27 FLANGED SPRING LOADED, SELF REGULATED 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 25 RELIEF VALVE 26 NEGULATOR WITH INTERNAL RELEF F 27 HSR 1" GLOADED, SELF OPERATED GAS 26		1000 CLASS CFH (NTC) ALUMINUM GAS METERS	
9 WITH CONNECTIONS (With 2 lb Dial) Right to left WITH CONNECTIONS (With 7 inch Dial) 10 11 100 11 WITH CONNECTIONS (With 7 inch Dial) Right to Left ROMET OR ROOTS 3M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 5M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 27 FLANGED SPRING LOADED, SELF REGULATED 28 REGULATOR WITH INTERNAL RELIEF VALVE 29 OPERATED GAS REGULATOR WITH INTERNAL 20 RESPRING LOADED, SELF OPERATED GAS 21 HSR 1" GLOADED, SELF OPERATED GAS	8	WITH CONNECTIONS (With 2 lb Dial)	
WITH CONNECTIONS (With 7 inch Dial) 10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dial) Right to Left ROMET OR ROOTS 3M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 5M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" GLOBE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 25 REGULATOR WITH INTERNAL RELIEF VALVE 26 ASR REGULATOR WITH INTERNAL RELIEF F 27 FRANGED SPRING LOADED, SELF OPERATED GAS 28 REGULATOR WITH INTERNAL RELIEF F 29 PRATED GAS REGULATOR WITH INTERNAL RELIEF F 24 GAS REGULATOR W			
10 1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dial) Right to Left ROMET OR ROOTS 3M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 5M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 25 REGULATOR WITH INTERNAL RELIEF VALVE 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 25 REGULATOR WITH INTERNAL RELIEF F 26 REGULATOR WITH INTERNAL RELIEF	9	WITH CONNECTIONS (With 2 lb Dial) Right to left	
1000 CLASS CFH (NTC) ALUMINUM GAS METERS 11 WITH CONNECTIONS (With 7 inch Dial) Right to Left ROMET OR ROOTS 3M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 27 FLANGED SPRING LOADED, SELF REGULATED 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL CONSTANT PRESURE 25 RELIEF VALVE 11/4" SPRING LOADED, SELF OPERATED GAS CONEXTANT WITH INTERNAL RELIEF 26 REGULATOR WITH INTERNAL RELIEF 11/4" SPRING LOADED, SELF OPERATED GAS CONEXTANT RENDAL RELIEF <td></td> <td>WITH CONNECTIONS (With 7 inch Dial)</td> <td></td>		WITH CONNECTIONS (With 7 inch Dial)	
11 WITH CONNECTIONS (With 7 inch Dial) Right to Left ROMET OR ROOTS SM ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 25 REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 11/4" SPRING LOADED, SELF OPERATED GAS	10		
ROMET OR ROOTS 3M ROTARY METER OR 12 EQUIVALENT ROMET OR ROOTS 5M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 25 REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL RELIEF 11/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF			
12 EQUIVALENT ROMET OR ROOTS 5M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 25 REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 11/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 11/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF	11	WITH CONNECTIONS (With 7 inch Dial) Right to Left	
ROMET OR ROOTS 5M ROTARY METER OR 13 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR CONSTANT PRESSURE PILOT LOADED 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 11/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS			
13 EQUIVALENT ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR CONSTANT PRESSURE PILOT LOADED 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE OPERATED GAS REGULATOR WITH INTERNAL RELIEF VALVE 11/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF	12		
ROMET OR ROOTS 7M ROTARY METER OR 14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 27 FLANGED SPRING LOADED, SELF REGULATED 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 0 OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 11/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS			
14 EQUIVALENT ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 25 REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL 25 REGULATOR WITH INTERNAL RELIEF 11/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF	13		
ROMET OR ROOTS 11M ROTARY METER OR 15 EQUIVALENT 16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 25 REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 11/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 11/4" SPRING LOADED, SELF OPERATED GAS	14		
15EQUIVALENT16HSR 3/4" ANGLE BODY17HSR 3/4" ANGLE BODY18HSR 3/4" GLOBE BODY19HSR 3/4" GLOBE BODY20HSR 1" GLOBE BODY20HSR 1" GLOBE BODY21HSR 1" GLOBE BODY21HSR 1" GLOBE BODY22REGULATOR23REGULATOR24GAS REGULATOR WITH INTERNAL RELIEF VALVE0PERATED GAS REGULATOR WITH INTERNAL RELIEF VALVE24GAS REGULATOR WITH INTERNAL RELIEF VALVE25RELIEF VALVE11/4" SPRING LOADED, SELF OPERATED GAS26REGULATOR WITH INTERNAL RELIEF11/4" SPRING LOADED, SELF OPERATED GAS	14		
16 HSR 3/4" ANGLE BODY 17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR 23 REGULATOR 24 GAS REGULATOR UTH INTERNAL RELIEF VALVE 25 RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 11/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 11/4" SPRING LOADED, SELF OPERATED GAS	15		
17 HSR 3/4" ANGLE BODY 18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOR PRESSURE REDUCING 23 REGULATOR 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS			
18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOPERATED PRESSURE REDUCING 22 REGULATOR 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS	16	HSR 3/4" ANGLE BODY	
18 HSR 3/4" GLOBE BODY 19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY 22 REGULATOPERATED PRESSURE REDUCING 22 REGULATOR 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 24 GAS REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS			
19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY DIRECT OPERATED PRESSURE REDUCING 22 REGULATOR CONSTANT PRESSURE PILOT LOADED 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 2" FLANGED SPRING LOADED, SELF REGULATED 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS	17	HSR 3/4" ANGLE BODY	
19 HSR 3/4" GLOBE BODY 20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY DIRECT OPERATED PRESSURE REDUCING 22 REGULATOR CONSTANT PRESSURE PILOT LOADED 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 2" FLANGED SPRING LOADED, SELF REGULATED 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS			
20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY DIRECT OPERATED PRESSURE REDUCING 22 REGULATOR 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS	18	HSR 3/4" GLOBE BODY	
20 HSR 1" GLOBE BODY 21 HSR 1" GLOBE BODY DIRECT OPERATED PRESSURE REDUCING 22 REGULATOR 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS			
21 HSR 1" GLOBE BODY DIRECT OPERATED PRESSURE REDUCING 22 REGULATOR 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS	19	HSR 3/4" GLOBE BODY	
21 HSR 1" GLOBE BODY DIRECT OPERATED PRESSURE REDUCING 22 REGULATOR 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE 0PERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS			
DIRECT OPERATED PRESSURE REDUCING 22 REGULATOR CONSTANT PRESSURE PILOT LOADED 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 2" FLANGED SPRING LOADED, SELF REGULATED 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS	20		
DIRECT OPERATED PRESSURE REDUCING 22 REGULATOR CONSTANT PRESSURE PILOT LOADED 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 2" FLANGED SPRING LOADED, SELF REGULATED 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS	21		
22 REGULATOR CONSTANT PRESSURE PILOT LOADED 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 2" FLANGED SPRING LOADED, SELF REGULATED 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS	<u></u>		
CONSTANT PRESSURE PILOT LOADED 23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 2" FLANGED SPRING LOADED, SELF REGULATED 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS	22		
23 REGULATOR LT GREEN MAIN SPRING, BLUE PILOT 2" FLANGED SPRING LOADED, SELF REGULATED 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS			
2" FLANGED SPRING LOADED, SELF REGULATED 24 GAS REGULATOR WITH INTERNAL RELIEF VALVE OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS	23		
24 GAS REGULATOR WITH INTERNAL RELIEF VALVE OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS			
OPERATED GAS REGULATOR WITH INTERNAL 25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS	24		
25 RELIEF VALVE 1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS			
1 1/4" SPRING LOADED, SELF OPERATED GAS 26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS	25		
26 REGULATOR WITH INTERNAL RELIEF 1 1/4" SPRING LOADED, SELF OPERATED GAS			
1 1/4" SPRING LOADED, SELF OPERATED GAS	26	· ·	
27 REGULATOR WITH INTERNAL RELIEF			
	27	REGULATOR WITH INTERNAL RELIEF	

ITB # 25-20,	NATURAL GAS METERS AND REGULATORS	
	SPRING LOADED THROTTLING RELIEF BACK	
28	PRESSURE REGULATOR (OVERPRESSURE RELIEF	
	SPRING LOADED THROTTLING RELIEF BACK	
29	PRESSURE REGULATOR (OVERPRESSURE RELIEF	
	PILOT OPERATED PRESSURE REDUCING	
30	REGULATOR	
	PRESSURE REDUCING REGULATOR FOR	
31	REGULATOR STATIONS AND DISTRIC GATE	
32	STRAINERS	
33	FILTER 2" (DRY PARTICLE)	
34	FILTER 3" (DRY PARTICLE)	
35		
30	FILTER 4" (DRY PARTICLE)	
	Total Bid Items 1 – 35:	¢
	Total Biu items 1 = 35.	φ -